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SOCIOLOGY
Paper : 2-3

Full Marks : 80
e : Three hours

The figures in the margin indicate
full marks for the questions.

Fill up the blanks with the correct options

1x10-10

0 By birth itself individuals become

member of a . (community /
association)

(i) “Village India” is written by
(S.C. Dube / Mckim Marriot)

(i) A matrilineal family is controlled by a

. (woman / Wan)

o Iw) A__ descent; is traced through
: both male and female line (Umlineal /
Bilateral) '



(v) G.S. Ghurye defined caste in his book '

. (Indian Somety / Caste and
Race in India)

(vi) reform movement fought for
abolition of Sati, Widow Remarriage,
Education for Women. (Arya Samaj /

Brahmo Samaj)

(vi) Commensality of food is one of the
important features of . (Caste /
Race) :

o - (viif) Among Muslims divorce attained by

mutual consent is referred to as
. (Talag-e-ahasan / Mubarat)

(i ______ declares that taking of dowry
to be an unlawful activity to prevent
exploitation of women. (The Dowry
Prohibition Act / Hindu Succession Act)

(x) is a rule of marriage where a
person has to marry within his/her own
group or varna cr caste. {Exogamy /

Endogamy)
-2. Write short notes on:~ - --. 2x5=10
(i Point out {fwo oi ferences between
Society and Community
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(W)
(i)

(iv)

v)

(@)

/i (@)

5 (@

Mention two aims of Hindu Marriage
Mahr or Dower

Mention o causes for changes in Joint
Family

Varna System.
What do you understand by the term
Status 7 Explain the mter—relationsh1p

between status and role.
6+6=12

OR
India is a pluralistic society — Explain.
\ 12

Explain the traditional features of Caste
System found in India. ' 12

‘OR
Elaborate the Agrarian Class Structure
of Indian Society.. ‘ 12

Define Kinship. What are the Kinship
Terminologies ? 4+8=12

19 (2) SOCI 2-3/G 3 Contd.



@

6. (@
(i)
7. @
(@)

OR

What is Family ? Discuss the two types
of families found in Ind1a

~

4+8=12

What are the important rites and sacred
beliefs associated with Hindu Marriage ?
6+6-12

OR

What are the functions and forms of
Marriage as a Social Institution ?
6+6=12

Give a brief description of Tribal Society
in India. _ 12

OR

Elaborate the status of women from
Ancient times to modern India.
12
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